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Periodic Table Test Review 

Practice Problems 

Neutral Atoms
	Element
	Atomic Number
	Protons
	Neutrons
	Electrons
	Mass Number
	Atomic Mass

	
	17
	
	
	
	35
	

	Silicon
	
	
	14
	
	
	

	
	
	
	106
	
	180
	

	
	
	23
	28
	
	
	

	
	
	
	
	
	133
	132.905


Ions

	Element
	Protons
	Neutrons
	Electrons
	Charge
	Cation or Anion?

	Magnesium
	12
	12
	
	2+
	

	Chlorine
	17
	18
	18
	
	

	Antimony
	
	70
	48
	3+
	

	Zinc
	
	34
	
	2+
	

	Manganese
	25
	30
	22
	
	


Isotopes
	
	Boron-10
	Boron-11

	# of Protons
	
	

	# of Neutrons
	
	

	# of Electrons
	
	


	
	Uranium-235
	Uranium-238

	# of Protons
	
	

	# of Neutrons
	
	

	# of Electrons
	
	


	
	
	

	# of Protons
	
	

	# of Neutrons
	87
	90

	# of Electrons
	83
	


	
	Iron-
	Iron- 

	# of Protons
	
	

	# of Neutrons
	27
	30

	# of Electrons
	
	


1. Here are three isotopes of an element: 
612C

613C
          614C

a. The element is: __________________

b. The number 6 refers to the _________________________

c. The numbers 12, 13, and 14 refer to the ________________________

d. How many protons and neutrons are in the first isotope?  _________    ________

e. How many protons and neutrons are in the second isotope?  ________    _________

f. How many protons and neutrons are in the third isotope?  ________     ______

2. Naturally occurring europium (Eu) consists of two isotopes was a mass of 151 and 153.  Europium-151 has an abundance of 48.03% and Europium-153 has an abundance of 51.97%.  What is the atomic mass of europium?  

3. Strontium consists of four isotopes with masses of 84 (abundance 0.50%), 86 (abundance of 9.9%), 87 (abundance of 7.0%), and 88 (abundance of 82.6%).  Calculate the atomic mass of strontium.  

